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But not the reverse — X% NODIR 92N

OVERVIEW

The Xn»™2 concluded that this leniency (that we let them first celebrate their
wedding and then go into mourning) is only if the father of the jnn or the mother of
the 17195 died (since they provide the wedding needs of the jnn and 17175 respectively),
but if it was the reverse (the mother of the jnn or the father of the 1193 died) this
leniency would not apply. M50 discusses various rules of marrying after m>°ax.

= D299 ANV HNNN DYAN ON 1271 XYM
And the same rule of strictness would apply if they are in mourning for other

relatives (neither their father nor their mother); they would also be required to begin the
mourning period and have the wedding afterward.

n1voIN asks:
= 09549 73 193YOW 1Y XYY MON INYN NNN (0w &, 97 JOP TIINT /) P9 9INRT NN

It is astounding! For the Xn>72 states in the third P99 of p''v» noon; ‘his wife

died, he is forbidden to remarry until three holidays pass -
= 11539 N599 DIVN MNINRY XYY 951 023D PPN ON)

However, if he has no children he may remarry immediately in order to fulfill

the mxn of 2'"Y®. In addition -
- DP9 DIVM TNYNY NYY 1M D07 03319 NN

If his deceased wife left him over with small children he may also remarry

immediately because of the children’s needs’. This concludes the Xn»93, which

indicates that an 22X may remarry immediately if he has no children (because of 7"19) -
= 19°P0Y 021D PNAT ¥YHPYNI XY NIDN JAN 9N NIN)

However here the Xn»12 states, ‘however by the reverse (or by other relatives)
he may not’ remarry until after the m>2X, and it seems that here we are

discussing someone who has no children -
= 1599 9IN227 ¥IUN 1Y NIVT NIIDT 9INPTN

Since the Xn» "2 states, ‘for there is no one to work for them’; indicating that

he is still a 9I72; he was never married before and was not 1"15 0»pn, so why cannot he
continue on with the wedding because of 71" as the other Xn>12 stated.

mMo0IN answers:

! One who has grown children, does not need his father to take care of his second wedding; he can do so on his own.
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And one can say that when the Xn>72 in p"12 ruled that he marry immediately if
he has no children or he has small children, it did not actually mean

immediately, but rather it meant that he is permitted to remarry after the seven
days of mourning. There is therefore no contradiction between the nin>72.

N1DOIN cautions:
— 97 992 N1 Y 9NN 1Y MION YIyaY 1919

However (even though he may remarry [after seven days] if he has no children or
small children), nevertheless it is forbidden for him to have relations with his

wife, until after the thirty day period of mourning, as is evident later in that same
Xn™ 1 -
- PIMNN 233 Y0399) XY MIAPH %23 HMNRY ININY 17190 9O HY INYNR INNY Hwyna

Regarding the story, that the wife of 177577 ney died, and 37577 71071 told his wife’s
sister in the cemetery, marry me and go and take care of your deceased sister’s

children (meaning that the surviving sister should marry 37577 707 and attend to his children
[from her sister]). The Xn»92 concludes -
- 79 7)1 NDIST Y9N DY DIWHY NI 1T NM DAY T 1Y DOYY N N 45 39 HY 4N

But nevertheless (even though they married within thirty days), he had no
relations with her until a ‘long time’ passed’. The X7n) asked, ‘what is a ‘long
time’; X995 27 answered, ‘thirty days’ after his wife’s death, indicating that he

married her within thirty days.
= SNOM NOMTI NON INT NYaAY I,

And within the seven days of m%2x it is certainly forbidden to marry as is
evident here —

mooIn responds to an anticipated difficulty:
= N1IYYA PYY XON 1D NT NN KD MI2PN %33 1Y 9INRY NN

And this which he said to her in the cemetery, go and attend to the children
(which would seemingly indicate that he married her then), this was not a

2 Compared to the 2°731 '3 which one has to wait normally after the wife’s death, waiting only seven days is
considered n7R?.

3 An 9aR is permitted to have unn wnwn after seven days; however, by a m¥» n2°va where there is a 77°n° 7w he
needs to wait 01° ‘7 (see 721 2X). See ‘Thinking it over’ # 1.

* The meaning of 131 X2 XY 3"y is that even though he married her, nevertheless 7°¥ X2 X7 until 21 '7, indicating
that the marriage took place "7 7). See ‘Thinking it over’ # 2.

SIf it is not 1M W YR or 7793 YW anR, then the wedding may not proceed since they are 0°7ax. See ‘Thinking it over’
#3.
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marriage (for that is forbidden until after the 7vaw), but rather it was merely an
engagement to get married after nvaw.

In summation: an %2R for one’s wife may not marry until three 2°237 pass (for other m>°ax he
must wait one month), however if he (was not 1" 0»pn or) has small children that need to be
attended, he may marry after 7vaw, but may not be ¥12 until after '2.°

mooin qualifies this n°7:
=79 9 XYY 9510 D0P D3I WY INMN INTIT PN 199290 NN

And it is the view of the %' that certainly one who has small children is

permitted to marry within thirty days so someone will attend to the children -
- 1750 G0 RTIYA YHPUNTS

As it seems by the story of 377577 n®Y who had small children and married within thirty
days -

= 725DV INNRD 1Y XYY 90N DY 022D PPRY IMN DaN
However one who has no children at all, it is forbidden for him to marry until
after thirty days (even though he was not o*pn yet the 7% of 7"19) -

- DUHY IN DIYAY 9195 PRY 11

Since he cannot be ®¥2 within thirty days, so there is no purpose in the marriage, as
opposed to one who has small children who may marry within the thirty days (after nvaw), for
even though he cannot be 212, but his wife will attend to the children.

moo1n offers proof to this view:
- D571 £227 YWY 0NN 0937 N1 NOINT ¢t prs) MNNY NIDNI YHWN 1)

And so it seems in N noon, where the Xnss92 teaches, ‘when do these laws

apply (that one waits three holidays), if he has older children -
=79 89ANY NINNK XYY 9510 DVP D3I WY IN D219 PN YaN

However if he has no children (and needs to be 7" 2pn) or he has small

children (and needs a wife to attend to them), he may remarry after thirty’ days -
- DYYHY TIN XYY IPAN NONT ¥IWUnN

It seems that (one who has no children) is forbidden even to marry within
WYY (and not only to be 7312) as the *" stated —

6 See footnote # 11.

"1t will be necessary to say according to this >" that when the abovementioned Xn»12 in "1 states 2°12 12 7K OX)
aNoKY RW°? TN, it means that he need not wait three 0°737 but can marry after o1 ™2 (and not like the 09X of 17 w»
o°1vp 0°13, which means 1 nXY).

8 Our text of mmmw 'on read a1 > 7102 (instead of ™ NR?)

3
TosfosInEnglish



XO9°K ax 171"7 'O K, 7 MaNd .7"02

mMooIN anticipates a difficulty:
= DOUOY TIN NYIY 991 020P 02219 W7 2) by 9N

And even though the °"1 ruled that one who has small children may remarry

within 2oW»2 (and from the Xn»92 in MY it seems that both one who has no children and
one who has small children may marry only after thirty days) —

MooIN responds:
- 905219 PN DIVN DIVYHY NN VP DIPN YON

Nevertheless we can answer that the Xn>972 mentioned that he marries after

2wbw, because of the case where 2%2 ¥ J°R; however if he has 2°1vp 2°32 he may
remarry within 2w5w.

mooin offers a dissenting view:
= £33 97 1PNAT 991D N¥I DN 1229

And the n''% wanted to say that by one who has no children -
= 11529 1599 DIVN /T NN DIYHY TIN Y D1yab 19%9N

He is permitted even to be Y12 within 2°@w>w but after ;waw because of 7' -
= 109119595 NAYIHN NN MNNYT NINNY

However the Xn>72 of nmaw 'on cannot be explained according to the s'n",
view.

In summation: according to the *"9 one who has small children may remarry "> 710, but cannot be
2>y2 until after 2. However, one who has no children can remarry only after '2. We are more
lenient by 2°1vp 0°12 than by 0°12 7% 1R, According to the 09 the reverse is true; by 2°1vp 0°12 he
may marry '2 7\n and be 9°v2 after 7 (as the " maintains), but by 2°32 17 X he may marry and be
"> 7n 2va. We are more lenient by 2°12 1% X than by ovvp ova.!!

NDoIN continues to rule on various cases in this matter:
= 129532 HDIN9NIY 919 NIAN 1) N>N ON I1P2AN) XYY YW DV 0299 WraT AN

And it is the view of ndoIN, that in a case where he has small children he can
marry a woman (‘> 7\n), and even if she is also an 17%°a8; he may do this since
she attends to his children -

° Regarding o°1vp 0232 17 W we can interpret that when the Xn>972 states "> 9> NnX Xw*2 °nn (even though that
according to the >" he may remarry within ') it is referring to the 7%°3, which can be done only "2 2nx>.

10 How can the X072 in Mnaw mention 2°12 17 PX when it rules ™ 9K Xw°> 00 only, since by 0232 12 1% he may
(not only marry but) even be 7 710 9¥12 (according to the n"1)?! See footnote # 8 & 9.

1Tt would seem that moon (before he mentioned these two views) maintains that by both 2°32 17 PX or 20°2 17 ¥
o°1vp he may marry "7 710 and be "2 nX? 2312 (see >"pl). See footnote # 6.

12 See ‘Thinking it over’ # 4.
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= AMNNN NIAN NPNIY 1921 9017 NT2I¥a NIMITI HINNI TYIANY 9 by aN)
And even though it is possible for him to marry another woman who is not an
972K, nevertheless it is permitted,'® as is evident in the story of 377577 1o where
(his new wife) was an 179°2R8 because of her sister’s death —

mooIn discounts this proof:
— DINNRN 9 NMNN 232 DY DNIN NINY 29D DNN INY RNWT NN 79 D 1PN 117510)

However, it is not such a valid proof (that he may marry an 177°2X), for perhaps
there, it is different, since the sister will be more caring for her nephews than

another woman. However, if the proposed wife is not a relative to the children and is also an
272K, it may not be permitted (if he can marry another woman).

nooIN anticipates a difficulty with the premise than if 0°12 7% X he may marry even an ;17°2X
within "7:

= DI2INN 23919 NINTNND YIN YOIRD? DIWIN T3 (0w xxn 97 ) NIIND 7992 13NT 22 HY 9N
And even though the mw» in y917 P teaches, 01 ' said, all the woman
(whether she was previously an 7017X or a IX11) may betroth (immediately after

the divorce) except for the 771%9R, because of the mourning’ -
- 19%AN XYY D2I0P 0239 YWY Y 199N NIHONY ¥1IWUN 3759 Y91 XYY

And °0v "1 does not distinguish at all, indicating that while she is an 7972, she

is forbidden to marry even to someone who has small children, and here nwoin
said that he is permitted to marry an 7928 —

MooIN responds:
= 1573020 0IVN BTN /) PHNNY NI2INT NIION 25N INJAT DIVN ONN

There by 7129% it is different, because she is forbidden to have 1°X1°1 regardless
of the m>°ax, for she is required to wait three months because of am2ar.

In summation; an 22X with 2°1bp 0°12 may marry an 72°2R even if it is "> 730 for both of them (but
he cannot be 7312 until after '9).

An additional ruling:

13 The reason is he may not find another who is willing to attend to his children (additionally, since he wants her, he
will not take another and he will wait until after "> to the detriment of the 2°1vp 0°132).

14 Therefore, since she cannot marry him, there is nothing gained by having the 1°017°X right away for the sake of the
ovp o013, for since she is merely an 7017 she is not together with him and cannot attend to his children, who are by
him.

15 733777 means distinction. A widow or divorcee has to wait three months before she may have relations with a new
husband in order to distinguish whether a child born is from the original husband or the new husband.
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- 1779 90N 91595 5139 1691nN) AN 1NN 1I29NRT DN 13°29 IIIN)
And the n''m ruled that one may marry after '» even after the death of his
parents —

mooIN anticipates a difficulty:
=/ 9NN NNWNN N%2Y 039 DINNN DI DY (3,35 97 JOP TYINII 1229INRT NN

And that which the Xn>72 rules in p''v%2 n2on, ‘for mourning after all deceased

relatives the mourner may enter a banquet hall after "™, however if he is mourning -
- DYYTN 279 9NN 1IN D) AN DY

For his father or mother he must wait until after twelve months’, this concludes
the Xn>>12. The question is how can the n"A rule that he can marry after ' —

MBoIN responds:
=959 187955 N8N NINY NYUNR XYY DAN MNNY INYA Y951 N

This ruling of waiting twelve months from participating in a 7nw»i N2 for one’s
parents is valid by other types of joy, however to marry a woman which is a

‘special’ mxn it is permitted after ' -
= 19995 NN DN 2999 Y91 [NIN] Y971 9P23 (0 nvnp) 9INIY DIVN D22 1D Y 1IN

And even if he has children (so there is no issue of 7"19), because it says, ‘in the

morning sow your seed and towards evening do not stay your hand’
- ©52)997 INYY 1IN AN 122 1591 K9 PRIVIY 01 /Y Y5 0N0 20NN NN XA

And the n"9 brought proof that one may marry after thirty days of n°ax even for
parents, from the 8n>»92 which states as a general rule, ‘thirty complete days of
Mm% aR must pass before marrying’, and the Xn»92 does not distinguish between

mourning for his parents or for other relatives -
=951 79 ANNRY 1NDIDAT ¥NRYN

Indicating that by all relatives (including parents) one is permitted to marry
after " of m>ax —

mooIn brings an additional proof to this ruling of the n"A:
= NN (0 pa9) HHNNY NIDNI )INT 199290 NN N2AN DI 139249 2919

16 Tt is only by 1wx nnn that he is required to wait 2°731 '3 (see TV 7”7 8,30 p"1 '0N).

17 This is in a case where he has already 27173 0°12; however if he has no 0212 or he has 0°1vp 0°12 he may marry 0
"> (as the n"" stated earlier in this '01n).

18 The mxn of 71" 1 is referred to (by Ma0N [see IRW 7"7 2,37 N2> '0IN]) as a 72173 ¥, See ‘Thinking it over’ # 5.
191t is in 1 P109. This means that one must engage in 71" not only in his younger years (1p123) but even in his older
years (27¥7?) and even if he has children already. See 2,20 n1n2.

20 %30 P,
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And 59y 9''77 brought a proof to the n"2 for we learnt explicitly in a /7w in

NI NOOM -
- O /Y PIYYIY 1Y NNYND H2Y THY NONX DINNN Y Yy

For all deceased relatives it is forbidden to go to a mnw»n? ns2 until the

completion of thirty days of bereavement -
= MNN HY 21151 15 ONX RIX WIN WY DY U3 90N N DY AN Y

However for one’s father and mother it is forbidden to enter a 7nhwni n°2 the

entire twelve months, unless it was a inwn of a m13» -
= 7NN HY NHYN J93 9V NN

It is evident that it is permitted to participate in every 7nw» of a %%, including
one’s own wedding.

Mo concludes:

109 79 TIN 1PAN W) RYIIN 333 IND ON 1Y 7298
And contemplation is needed to decide if the statement m¥n W 777 O"RX applies
even to the Xw" (where it says 01 '2 WHWw v anwna N°a% nNo2% MoX), and if it

does refer back to the Xw, a mxn 5w 7w will be permitted even 21 ' 0 (for
0°21p XY [or even for MXY 17aR]). 22

SUMMARY

An a8 with small children may remarry "> 70 and be 9312 after '2. An 2R without
children may not marry > )0 according to the >"1 and may marry and be "> 710 512
according to the n"7. An 2R with 2°up 0212 may marry an "> )0 12°aR (provided
she is not within three months of a previous marriage). An 2R for X 1ax may
marry after ™7 (even if he was 1"9 0»pn).

THINKING IT OVER

1. mooIn, in the previous 12 7"7, attempted to prove that 371 nvI¥w 0°727 during
m>°aR, from the fact that the m¥» n°va was permitted only where the N was in the
room, but not after he was buried (when the m%2ax begins).”* However, here**
nmoon distinguishes between m¥n n?°ya (which is forbidden during %) and a
regular 79°v2 which is 2n after 1. How can we therefore prove from mx»n no°ya

2! In our text it reads 7w aw® an° (instead of m¥n Hw).

22 This view would however be in contradiction with the n"1 who previously stated that 01137 9137 181 128 107 12°0R
> qnx? (but not before); indicating that it applies both to 1&1 17228 as well as to 0217 WKW

2 See (the text) there (by) footnote # 6.

24 See footnote # 3.
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which is n7°a82 70X), that 7y¥aw 0127 applies to a regular 7999292
pp g

2. mooIn proves from the story of 377571 7O (where he was ™ InR? 7%y X2) that it is
forbidden (for someone who is permitted to marry "> 10 [because he has 0212
0°17P]) to be H¥12 until after 7.2° However there is seemingly no proof, for there she
was also an 712°2X (and the reason of 0°1vp 0°12 do not apply to her), therefore he
could not be %¥12 until "7 7nKX?, however if she is not an 7%°2X, perhaps (if he can
marry '> 71n) he can be "> 710 5127’

3. mdoIn writes that it is forbidden to marry T 730 even for one who has 0°1vp 013,
as it is evident in our X3 here.”® However our X713 here is discussing one who has
no children, therefore he has to wait until after 's, but how do we know that one
who has 0°1vp 0°12 needs to wait until after '1 (for the >"1 differentiates between 2°12

o°1vp [where he may marry 2 7\n] and 2°1212 X [where he needs to wait until R
vb]29)?30

4. moon rules that by 0°10p 23217 w° he may marry an "> 710 72°a8.3! What would

be the rule according to the n"9 if 1" o»p K7, is he also permitted to marry an
727ax (" 7In) 732

5. MpoIN permits marrying after '> even for X1 17228 M272X since it is a 70> Mxn.>
However later 7o 1"1 states that mxn 5w anwn 252w XX, Why did the n'"1 need
to say that it is a 720> Mxn?!13

25 See a7 TON.

26 See footnote # 4.
27 See R"wAn.

28 See footnote # 5.
2 See footnote # 7.
30 See x"v1 "n.

31 See footnote # 12.
32 See 12 MR 7"'00.
33 See footnote # 18.
3 See 12 M 7"00.
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